WHAT IS HEAVY FORWARD BUT NOT BACKWARD?Y
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Shade in the area containing each solution.

1. x + 3(x + 4) = 20

4. 5(k - 2) —'8k = -34

7.4a - 2(a+ 9) =86

18. 5 = 6(g —- 5) — 19

13. 5(4n — 4) = —60

16. Write an equation and
solve for x if the area
of the rectangleis 70 -
square units.,
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3.5+ 4(n +9) = -3
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%, 8x - 11{x - 2) = -8

2. 5(2v + 4) = 170

15. 9 — 4(

. Write an equation and

sclve for x if the area
of the rectangle is 55
square units.
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B) + 7p = -b

p - 1) = 45

Equations, Prablems, and Functions:
Solving Eguatons with Parentheses



